ER :1/2,500

T

Y

L

o anih

£3)

NRHE

asl)

1)

(4)

("2\)

)

(6)

LD

L

A

(7)

<

1/2 500

BARMRDEE |REMNOBRE
HIFFEES  [132208A661105032
EIES AZRETAZRTA
Fr7EHh HEM AL RHET

B E B

#a R :1/50,000

= B TN & i

S C

e T o
VT IS A P W

ST i \ AT

X i & AL 4
T
- IBKEHAIERRES (BPREIEIES) —
BENC LD NA00N/ mEBZ DR,
7] smEmemE B R
[ ] zhesors

B ER R i (FFR<S
TEFDHDODRESDRT

[TREDNDORES—ERISE

1/ 2

ERE




TEFOAODKESS—E

CrE35) BARZDIEE |atEsbomE
1. T_ﬁm%‘ﬁ‘%‘ﬁ?@j’&lfiﬁﬁ%':M'39’\ HBAEEE  [132208A661105032
jJ(DIZﬁ:\%EEEG)EEHﬁJ éhT,Eiﬁﬁwnﬁka’émbfb %, N —
(A) BBEII= LB 11 AY100KN/ % 2% 2 K DIBEND 1 DB AEKN/m) (E) #HEEAIMEIBZ 2RI D HEHED H DBEAB®KN/nf) 2 THXERARUZEBNICSHIREEZHT S Ll AERMAERTA
< ; mZEAHXz RAMEKN/m EHIMEHR DX A B KfBN/m EHEES “HT-Y. LY = =
(B) (WAL BT B A D LS DB Sm) (F) ()4 4 R~ fE RS BB O LB % DB &(m) %b%wwf’gfé;é,fﬁi‘;jﬁ%%%f}ﬁﬁﬁ A 72 HER A% RET
(C) BB L5 HHM00kN/ M LU R DR B DI BID 1 D& ABEKN/m) (G) B AL T DR i DHFED 1 DB fEKN/ ) EMBEEHE S HRRLBEBHNIHALR
D) N LHEEYI AT IBENLTIEENEE(m) H) QA LHREY AT IBENLTRENESM) DEGHENCEETAHENTED,
HETFTRLYFHOLREZEDADRES SIESHA DL EZED HDAEE
RHES % =
(A) (B) (©) (D) (E) (F) (@) (H) (A) (B) (©) (D) (E) F) (G) (H)
(1) - - 62.9 1.0 - - 10.8 2.1 - - 57.7 1.0 - - 10.8 2.1
(2) 135.1 1.0 99.3 1.0 - - 13.5 2.7 135.1 1.0 100.0 1.0 - - 13.5 2.7
( 3) - - 934 1.0 - - 11.2 2.2 - - 90.7 1.0 - - 11.2 2.2
( 4) - - 74.9 1.0 - - 10.2 2.0 - - 66.8 1.0 - - 10.2 2.0
(5) 121.9 1.0 99.9 1.0 - - 10.6 2.1 121.8 1.0 96.0 1.0 - - 115 2.3
(6 ) - - 94.2 1.0 - - 11.3 2.2 - - 89.9 1.0 - - 11.3 2.2
7)) - - 95.8 1.0 - - 11.9 2.4 - - 95.6 1.0 - - 119 2.4
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